May.

Govt. of West Bengal

## O/o the Chief Medical Officer of Health, South 24 Parganas M.R Bangur Hospital. Building, 2<sup>nd</sup> floor, Tollyguge, Kolkata

2: (033) 2473-1039; Fax: (033) 2473 0294:

E-mail: cmoh s24@wbhealth.gov.in

For Details Log On: www.wbtender.gov.in

Memo. No. CMOH(SPG)/ 365

Dated .- 10.61.23

# E- TENDER NOTICE NO. - 12/ NHM of 2022-23 (Civil & Electrical work) (2<sup>nd</sup> call)

- 1. Chief Medical Officer of Health & Secretary District Health & Family Welfare Samity, South 24 Parganas at M.R Bangur Hospital, 2nd floor, Kolkata-33, South 24 Parganas, invites etender from the intending experienced bonafide eligible resourceful outsiders and working contractors/agencies having experience in relevant nature and magnitude of the constructional work mentioned as noted in ANNEXURE-I(Enclosed).
- 2. The accepting authority does not bind him –self to accept the lowest bidder and reserves the right to reject any or all of tenders received, without assigning any reasons. He further reserves the right of splitting up any contract and distributing the same to more than one bidder.

a. This is an e-procurement tender and also a two bid tender. First bid should contain document of earnest money & technical documents (i.e. trade license, pan card, credential etc.) and second bid should contain the financial offer to be submitted online.

- 3. Contractors /agencies are requested to observe the required credential. If any agency found submitted bid for the specific serial with below credential or false credential or any false paper the earnest money will be forfeited.
- 4. The intending bidders should submit tenders within specified time along with <u>scanned</u> <u>copies of original documents</u> (<u>scan of Xerox copy of any documents is not allowed</u>) –
- a. Trade License (Civil) (valid for current period 2022-2023),
- b. Trade License (Electrical) (valid for current period 2022-2023),
- c. G.S.T Registration No. With current return. 2022-23
- d. Professional Tax Enrolment Certificate with current year payment challan/return,
- e. Pan Card.
- f. I.T Return for Assessment years 2021-22 & 2022-2023
- g. Separate Agreement (Notarized) need to be executed by agency with Civil & Electrical Engineer (at least a Diploma Certificate Holder).
- h. If the Agency /Bidder /Firm/Company is not an Electrical License holder,he/she should submit agreement paper executed in between the bidder & Electrical license holder and such Agreement should be at least be in the form of 1st Class Judicial Magistrate.
- i. Credentials: Completion/ payment certificate with relevant work order of Govt. offices/ Govt. undertakings/ local bodies of similar nature of job as noted in annexure-I (enclosed) Credentials under sub-contract is not valid. The intending bidder should produce credential of similar nature of structural works of a completed single work having minimum value of 40% (Forty per cent) of the estimated amount put to tender during 03 (THREE) years prior to the date of the issue of the e-Tender notice.
- j. The Agency /Bidder /Firm/Company must arrange visit of their Civil and Electrical Engineer (atleast a diploma holder) during the execution of work and may be summoned for sharing necessary details if felt required by the tender inviting authority.
- k. In case of a partnership firm; it must be registered under any law.
- In case of a partnership firm/co-operative institution there should be clearly mentioned the
  authorized person who carry on the business in favor of the institution in form of deed/agreement
  / resolution if applicable.
- 5. State Team & district team will make periodical onsite visit to review the progress of the work and check the quality of work being implemented.
- 6. The intending bidders shall have to furnish original certificates of all documents with execution of similar works of requisite magnitude as and when demanded by the tendering authority.

- 7. The Tender Inviting Committee has reserved the rights to accept/cancel any/all of the Tender at any phase of the process without further reference
- 8. The bidders notice and details schedule of works may be obtained from the

### website:www.wbtender.gov.in

9. No price escalation will be allowed in any circumstances.

#### 10. Date and Time Schedule of Tender:-

SL NO.	Particulars	Date & Time
1	Date of publishing N.I.T & other documents online	13/01/2023 05:00 P.M
2	Online documents download starting date	13/01/2023 05:00 P.M
3	Online documents download ending date	20/01/2023 05:00 P.M
4	Online submission start date	13/01/2023 05:00 P.M
5	Pre-bid meeting to be held at office of CMOH	17/01/2023 02.00 P.M
6	Dates for submission of earnest money deposited online	As per Memorandum memo No 3975-F(Y), dtd28 <sup>th</sup> July 2016
7	Online bid submission closing date	20/01/2023 05:00 P.M
8	Online bid opening date for technical proposals	24/01/2023 02:00 P.M
9	Date of online uploading list for technically qualified bidders	To be notified later
10	Date of online opening of financial proposal	To be notified later

- 11. The bidder should quote his /their rates in figures and words on the basis of percentage above, below or at par with the schedule of rates attached with the tender form online.
- 12. A) As per Govt. Order No. 4608 F(Y) Dated 18/07/18, to ensure the quality and prior execution of the work in public interest, the Governor is pleased to decide that Additional Performance Security @10% of the tendered amount shall be obtained from the successful bidder if the accepted bid value is 80% or less of the estimate put to tender.
  - B) The additional Performance Security shall be submitted in the form of Bank Guarantee from any Scheduled Bank before issuance of the Work Order. If the bidder fails to submit the Additional Performance Security within seven working days from the date of issuance of Letter of Acceptance, his earnest money will be forfeited and other necessary actions as per NIT like blacklisting of the contractor, etc. may be taken. The Bank Guarantee shall have to be valid up to end of the Contract Period and shall be renewed accordingly, if required.
  - C) The Bank Guarantee shall be returned immediately on successful completion of the Contract. If the bidder fails to complete the work successfully, the Additional Performance Security shall be forfeited at any time during the pendency of the contract period after serving proper notice to the contractor. Necessary provisions regarding deduction of security deposit from the progressive bills of the contractor as per relevant clauses of the contract shall in no way be altered/affected by provision of this Additional Performance Security.
- 13. A) Cost of tender paper: Not required.
  - B) Earnest money: Earnest money [as indicated in the corresponding column of the work in the annexed sheet that 2% of A.P.T (in Rs.) should be deposited by the bidder [except Micro and Small Enterprise (MSEs) as defined in MSE Procurement policy issued by Department of Micro, Small and Medium Enterprise (MSME)] through e-procurement portal as per Memorandum, memo. 3975-F(Y), dtd. 28. 07.2016.
  - C)Performance Security will be deposited/deducted from bill at the prevailed rate as per the order of the Finance Department, Govt. of West Bengal vide its Memo No. 201-F(Y) dated 18.01.2021.

- 14. The successful bidder/s should execute an agreement with District Health & Family Welfare Samity, South 24 Parganas within ten days from the date of acceptance of the tender, failing which the tender be liable to be rejected.
- 15. Bidder /s shall be bound to execute any excess and supplementary works as may be ordered by the TIA at the rate of prevailing schedule of PWD/PW(R) D, GOVT. OF W.B at the time of tender
- 16. Due to work at Hospital the Contractors/Agencies will be responsible for work at emergency basis and urgently finishing the work
- 17. All tools and plants and implements required for the construction of the work, will have to be supplied by the contractor at his/their own cost.
- 18. The applications of the bidder, who could not complete the works entrusted to them in past to the full satisfaction of this District Health & Family Welfare Samity, South 24 Parganas, will not be considered.
- 19. Security Deposit, Labour Welfare Cess, T.D.S on Income Tax and G.S.T. will be deducted from the bills as per Govt. Rules. EMD/ Security Deposit will be released as per Govt. rules memo. - 5696-F(Y), dtd.-01st October 2019 read with Memorandum Vide memo No. - 201- F(Y), dtd.- 18.01.2021).
- 20. Copy of this NIT along with tender document may be obtained from the website:www.wbtender.gov.in
- 21. Any eligible bidder will be assigned job anywhere within the district as per the decision of Department/Tender Committee.
- 22. The Tender Committee reserves the rights to accept/cancel any/all of the Tenders at any phase of the process without further reference. If in any Bid, more than 01 nos. of LI bidder is found suitable after opening of financial bid, the Tender committee/ authority may conduct Draw of Lots for further decision.
- 23. The payment of the agency will be released after issuance of work-done satisfactory received from the concerned authority and certifying by the Engineering Cell.
- 24. State inspection team from Swasthya Bhawan will make periodical on site visits to review the progress of work and check the quality of work being implemented .no payments will be made until the clearance on the quality of the work has been permitted from higher authority..

24. All intended bidders are requested to keep close vigil on Website & on Office Board for any subsequent notice.

> District Health & Family Welfare Samity South 24 Pgs & CMOH, South 24 Parganas

For Details Log On: www.wbtender.gov.in

Memo. No. CMOH(SPG)/ 365/1(19)

Copy forwarded for information & with a request to display the Tender Notice in the notice board to -----

The Sabhadhipati, South 24 Parganas, Zilla Parisad

2. The Executive Vice Chairman, District Health & Family Welfare Samity, South 24 Parganas & The District Magistrate, South 24 Parganas. You are requested to send a representative at the time of opening of Bid.

3. The Executive Director State Health & Family Welfare Samity, Swasthya Bhawan The Mission Director, NHM, Swasthya Bhawan

- The Senior Accounts Officer, NHM, Swasthya Bhawan.
- 6. The Engineer in Charge , NHM, Swasthya Bhawan
- 7. The Progrmme Officer-I, NHM Swastha Bhawan
- The Dy C.M.O.H-1, CMOH Office, South 24 Parganas
- The Accounts Officer, CMOH Office, South 24 Parganas
- 10. The ACMOH Baruipur /Sadar/Canning Block ,South 24 Parganas

11-15. The BMOH (ALL) Block ,South 24 Parganas

- 16. The Assistant Engineer, SPMU, NHM, Swasthya Bhawan, Kol.
- 17. CA to District Magistrate, South 24 Pgs.
- 18. CA to ADM (D), South 24 Pgs.
- 19. Office files.

District Health & Family Welfare Samity South 24 Pgs & CMOH, South 24 Pargans

#### E- TENDER NOTICE NO.- 12 / NHM of 2022-23 (Civil & Electrical work)(2<sup>nd</sup> call) Annexure-I

SL NO	NAME OF BLOCK	NAME OF WORK	A.P.T (In Rs.)	EARNEST MONEY (In Rs.)(2.0% of A.P.T)	COMPLETI ON OF TIME	
1	Sonarpur	Repair & renovation work for establishment of Ayush HWC AT SONARPUR SAD under sonarpur block, south 24 pgs. (The tendered work has to be carried out as per the Estimated Amount. GST amount will be 12% and no extra cost such as riverine cost will be given for the said work in any circumstances.)	6,64,412.00	13,288.00/-(As per Memorandum memo No 3975-F(Y), dtd28th July 2016)	30 days	
2	BISHNUPUR-I	Repair & renovation work for establishment of Ayush HWC AT East Bishnupur SHD under Bishnupur-I block, south 24 pgs. (The tendered work has to be carried out as per the Estimated Amount. GST amount will be 12% and no extra cost such as riverine cost will be given for the said work in any circumstances.)	1,45,143.00	2,903.00/-(As per Memorandum memo No 3975- F(Y), dtd28 <sup>th</sup> July 2016)	15 days	

Secretary

District Health & Family Welfare Samity
South 24 Pgs & CMOH, South 24 Parganas

	Description	Nos	L	w	н	QUT	UNIT	RATE	AMOUN
1	item no-10, page-11 Stripping off worn out plaster and raking out joints of walls, celings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed.	1	17.50		1.50	26.25		100 miles	AMOUN
		1	6.50	1.20					
	2.	1	4.50	4.18		7.80 18.79		all visits in the	
		1	3.00	2.80		8.40			
+		1	3.50	2.90		10.15			
		976	K-14		1 1	71.39		19.00	
	item no-16 ,page-16, 3rd corrigenda & Addenda						SQ.III	19.00	1356.36
, 1	125 mm, thick brick work with 1st class bricks in cement mortar (1:4) in ground floor	1	1.8		3	5.4.			
1						5.4	Sqm	723.00	200100
1	tem no-33.,page-12, 3rd corrigenda				4		Sqiii	723.00	3904.20
g e: ir	Ordinary Cement concrete (mix 1:1.5:3) with raded stone chips (20 mm nominal size) scluding shuttering and reinforcement if any, a ground floor as per relevant IS codes. (pakur ariety)								
T	AND THE RESERVE AND	1 1	5	7.5	0.25	21.56	400		
	And the second s	-	2	3.5	0.125	2.19			
ite	em no-36,page-42				A TO	23.75	Cu.M.	6384.39	151629.26
ce up ha thi sla lin fix con floo shu	re and labour charges for shuttering with intering and necessary staging ito 4 m using approved stout props and thick ind wood planks of approved ickness with required bracing for concrete abs, beams and columns, tels curved or straight including fitting, ing and striking out after impletion of works (upto roof of ground or)a) 25 mm to 30 mm thick wooden attering as per decision & direction of gineer-In-Charge								
			2	3.2	7.6	62.32			
237.	GERMAN CONTRACTOR STATE OF THE	-		5.6		78.32	sqm	335	26237.2

		Reinforcement for reinforced concrete wor all sorts of structures including distribution bars, stirrups, binders etc initial straighteni and removal of loose rust (if necessary).	194		B Prox				1	
	5	cutting to requisite length, hooking and bending to correct shape, placing in proper position and binding with 16 gauge black annealed wire at every intersection, complete as per drawing and direction.i) Tor steel/Mild Steell. SAIL/TATA/RINL			1*1.0%*7.8	5*23.75	1.8	64 M.T	60580	112943.84
	i.	item no-4,page-22, 3rd corrigenda								
	6	Artificial stone in floor, dado, staircase etc wi cement concrete (1:2:4) with stone chips, laid in panels as directed with toppinging of concrete surface and application of cement slurry before flooring works using cement @ 1.75 kg/sq.m all complete including all materials and labour.In ground floor. 3 mm. thick topping (High polishing grinding on this tem is not permitted with ordinary cement). Ising grey cement(iii) 35 mm. thick		3	4.2		12.6			
E	1		1	3.5	2		7			
-	-	am vo 15 D - 100			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		19.6	SQM	337	6605.0
7	N	em no-15, Page-192 eat cement punning about 1.5mm thick in all, dado, window sill, floor etc. OTE:Cement 0.152 cu.m per100 sq.m.	1	3	4.2		12.6			6605.2
			1	2.6	1.2	3441				
			1	2.6	1.2		3.12		Sale And	
	-	AND THE COURT OF THE CONTROL OF THE	1	2.5	1.2	TELEVISION OF	3.12			
200	+		1	1.8	1.2		2.16	E 82.3		Particular State Control
1000			1	3	3.35		10.05	A water to		Market Labour
			1	7.5	1.2	C. KI	9			
				3.3	2	DESCRIPTION OF	7.			
	ite	m no-1, Page-192					50.05	sq.m	34.00	1701.7
8	tak	bour for Chipping of concrete surface before ing up Plastering work.	1	3.35		3.00	10.05			
			2	1.20		3.00	7.20			
			2	1.80		3.00	10.80			
			2	1.20		3.00	7.20		(a) the second	
			2	2.25		3,00	13.50	8 X 1 5 19	CONTRACTOR	
	Pae	e no :47 Item No:3	-				48.75	sq.m	21.00	1023.75
	Sup / sq floo	plying and laying Polythene Sheet (150gm .m.) over damp proof course or below ring or roof terracing or in foundation or in idation trenches.								
			2	3	2		12			

		2	2	1		4	12 20 50		
	NAME OF THE PERSON OF THE PARKETS	4	7.5		0.15	4.5			965364
		4	8.2		0.15	4.92	(C) 52 h (O) (A)		
	FOR THE SECTION OF THE SECTION OF	3	0.9		1.2	3.24			The state of the state of
		1	0.9	E Zetten	1.2	1.08		-	
	EXECUTE OF PURPOSE OF PROPERTY OF THE PERSON	1	0.7	10 July 10 10 10 10 10 10 10 10 10 10 10 10 10	0.6	0.42			
		1	0.6		1.2	0.72		I G C C C AND	
	CONTROL OF THE SECOND S	1	8.2	of participation	7.6	62.32		PAGE 1	
		1	5	3.2	7.0				
22		-	-	3.2		16	2000		
	item no-10 ,page-91, 3rd corrigenda					109.2	sqm	24	2620.8
10	(a) M.S or W.I Ornameltal grill of approved design joints contiluously welded with M.S, W.I flats and bars of Windows, railing etc. Fitted and fixed with necessary screws and lugs in ground floor.(Add extra @ 1% for each addl. Floor upto 4th floor and @ 1.25% for each addl. floors above 4th floor) (i) Grill weighing above 10kg per sq.m and up to 16Kg./sq.mtr.								
		1 1	1.2		2.1	2.52			
	STATE OF THE PARTY	-	1.5		1.2	1.8			62.45.000.00
						4.32	or had to be a		The Maria Control
	item no-01 Page 49, 3rd corrigenda					0.52	Qntl	9,888	5125.94
1 0	Plaster (to wall, floor, ceiling etc.) with sand and cement morter including rounding off or chamfering corners as directed and raking out oints including throating, nosing and drip course, scaffolding/staging where necessary ground floor). [Excluding cost of chipping over concrete surface] (i) with 1:6 cement norter (b)15 mm Thick Plaster				The second secon				
		1	3.00		3.60	10.80			
-		1	2.00		3.60	7.20			
-		1	3.00		3.00	9.00	S PERSON N		
-		1	2.00		3.00	6.00			
	PROPERTY OF STATE OF	1	2.00		2.40	4.80	E 2 2 3		
		1	3.00		2.40	7.20			
		_	0.00		2012.0			Control of the Contro	THE RESERVE OF THE PERSON NAMED IN

12	Plaster (to wall, floor, ceiling etc.) with sand and cement morter including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/ staging where necessary (ground floor). [Excluding cost of chipping over concrete surface](i) with 1:4 cement morter (c)10 mm Thick Plaster								
	<del>》。如此也可能地位于如何的的</del> 对理是不是是	1	6.50	1.20	PARK IN	7.80			
		1	2.25	1.20	<b>设在1200年</b>	2.70	1-ATRA		
			200		37.07.1	10.50	Sqm	133.00	1396.50
	item no-1,Page 49 3rd corrigenda								
13	Plaster (to wall, floor, ceiling etc.) with sand and cement morter including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/ staging where necessary (ground floor). [Excluding cost of chipping over concrete surface]  (i) with 1:6 cement morter (a)20 mm thick plaster								
	2. 多有。 <u>12. 所以是</u> 2. 用更多。 <b>有多2. 和</b> 是								
	out side wall	1	8.20		3.6	29.52	dire.	4 2-11-2	
		1	7.55		3.6	27.18	<b>发生的</b>	<b>在</b> 基本的	
		1	8.20		0.6	4.92			22.0
1000		1	7.55	TO THE STATE OF	0.6	4.53	<b>ESHETH</b>	Late House	
						66.15	Sqm	175.00	11576.25

14	Supplying, fitting & fixing 1st quality Ceramic tiles in walls and floors to match with the existing work & 4 nos. of key stones (10mm) fixed with araldite at the back of each tile & finishing the joints with white cement mixed with colouring oxide if required to match the colour of tiles including roughening of concrete surface, if necessary or by synthetic adhesive & grout materials etc(B) Wall With Sand Cement Mortar (1:3) 15 mm thick & 2 mm thick cement slurry at back side of tiles using cement @ 2.91 Kg/Sq.m & joint filling using white cement slurry @ 0.20kg/Sq.m. (a) Area of each tile upto 0.09 Sq.m (ii) Other than Coloured decorative including white 2. Add extra for each addl, floor over the rate for item 35 & 36 of subhead A. (i) upto 4 th floor-Rs 5/ Sq.m								
		4	2.2		2.1	18.48	Sqm.	704.00	12000.02
	oilet ground floor, floor tem no-10 page no-196					10.40	oqui.	704.00	13009.92
	Acrylic Distemper to interior wall, ceiling with		<b>企业</b>				144		
15 ir	coat of solvent based interior grade acrylic primer (as per manufacturer's specification) ncluding cleaning and smoothning of surface. Two Coats								
		4	3.00		3.20	38.40			3.03.45.03
		1	2.00		8.50	17.00		10 Tab 17 V V	
		1	6.35	ACT TO SERVER	3.00	19.05	<b>经期间</b> 套		10.4
+		1	6.50	1.20		74.45	Sqm	70.00	5211.5
		1	3.00	4.18		12.53			
		1	3.00	3.35		10.05	22000		
		1	1.80	1.20	经制度	2.16			
		2	2.53	1.20		6.06	STEP HA		
-		1	2.25	1.20		2.70	6	70.00	2000 (=
it	em no-9 page no-196b					41.30	Sqm	70.00	2890.65
in	ry Distemparing to interior walls or ceiling including cleaning, cashing, smoothening surface(b) Two coat								
		_	2.00			20.12			
		4	3.00 2.00	eralesent ra	3.20 8.50	38.40 17.00			
-		2	3.00		3.00	18.00			
-		2	4.18		3.00	25.05			
100	SOCIAL STATE OF STATE	-	1120	NO DESCRIPTION		98.45	Sqm	49.00	4824.05

	The state of the s	1	6.50	1.20	S CHARLES	7.80		100000000000000000000000000000000000000	
		1	3.00	4.18		12.53			
	THE RESERVE OF THE PARTY OF THE PARTY.	1	3.00	3.35		10.05			
	I TO THE DESCRIPTION OF THE PARTY OF THE PAR	1	1.80	1.20		2.16			
Į.		2	2.53	1.20		6.06	100 PM	1.00 miles	
		1	2.25	1.20		2.70			
85	[1] [2] [3] [2] [2] [3] [2] [3] [3] [4] [4] [4] [4] [4] [4] [4] [4] [4] [4		LEGIS.			41.30	Sqm	49.00	2023.455
	item no-7page no-195b	1,53		ALC: NO		1,100	3.0	19.00	2023.433
17	Applying Interior grade Acrylic Primer of approved quality and brandon plastered or cencrete surface old or new surface to receiveDistemper/ Acrylic emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification andas per direction of the EIC. (In Ground Floor)(b) Two Coatsi) Water based interior grade Acrylic Primer								
	out side wall	2	8.20		3.6	59.04	843 A. S		
		2	7.55		3.6	54.36	4.50	THE STATE	
	parapate wall	2	8.20	5.577.4	0.9	14.76	7-24		27-146-0
76		2	7.55		0.9	13.59	材止。		To Care
						141.75	Sqm	44.20	6265.35
	item no-4 page no-201				100			1 4 4	<b>展写,有人</b> 管
18	Applying Acrylic Emulsion Paint of approved make and brand on wallsand ceiling including sand papering in intermediate coats including putty(to be done under specific instruction of Superintending Engineer) :(Two coats)i) Standard Quality								
	out side wall	2	8.20		3.6	59.04	75-15-4-06		
	The state with the state of the	2	7.55		3.6	54.36			
	parapate wall	2	8.20		0.9	14.76			
2		2	7.55		0.9	13.59		e e major de la composition de la comp	Description of
	NEWS TELESCOPE AND LESS OF THE				48 8 A P. 16	141.75	Sqm	62.00	8788.5
	item no-1/f page no-114	100				100	10	A Commence	1000
9	Wood work in door and window frame fitted and fixed in position complete including a protective coat of painting at the contact surface of the frame exluding cost of concrete, Iron Butt Hinges and M.S clamps. (The quantum should be correted upto three decimals).  (f) Sishu, Gamar, Champ, Badam, Bhola, Mogra, Hallak.	3	6.4	0.075	0.100	0.14	Cum.	76096.00	10957.82

	item no- (1) (iii) (b) page no-117								
2(	Panel shutters of door and windows, as per design (each panel consisting of single plank without joint), including fitting and fixing the same in position but excluding the cost of hinge and other fittings.(iii) 35 mm thick shutters with 19mm thick panel (b) Sishu, Gamar, Champ, Badam, Bhola, Mogra, Hallak.	1	1.0	-	2.1	2.10			
		1	0.9		2.1	1.89			
	Section 2	1	1.2	201000	1.2	1.44			
	item no-4 /b,page no-140					5.43	Sqm.	2948.00	16007.64
21	Supplying, fitting and fixing M.S clamps for door and window frame made of flat bent bar, end bifurcated with necessary screws etc. by cement (1:2:4) as per direction. (Cost of concrete will paid separately)  (b) 40mm X 6mm X 200mm length	8				8.00	Each	25.00	200
	item no-5/ vii,page no-140								
22	Iron butt hinges (vii) 100mm. X 58mm. X 1.90mm.	8	2			8.00	Each	47.00	376
	item no- 28/i Page 145							Wales i	
23	Anodised aluminium Aldrop/ Sliding bolts approved quality manufractured from extruded section conforming to I.S specification (I.S 2681/66) and fitted and fixed complete. (i) 250 mm X 16 mm dia. Bolt.	4		-		4.00	Each	233.00	932
	item no-10/c Page 138								
4	Square or hexagonal square mesh netting made with 18 BWG galvanized wire fitted and fixed complete as per design including local sal wood battens of size 37.5mm X 25mm. C) 37.5mm mesh	4	1.8		1.4	10.1	Sqm	373.00	3759.84
5	item no-1/h, page no-200 (b) Priming one coat on timber or plastered surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc. (i) For Door & Window	5	1.8		1.4	12.6	Sqm	38.00	478.80
	item no-1/a, page no-200 (a) Priming one coat on steel or metal surface with synthetic oil bound primer of approved								
6	quality including smoothening surfaces by sand papering etc.	1	15.5		14	21.7	Sqm	29.00	629.3

item no- 2 A /2/ii page no-200	_	1	No. of Concession, Name of					
(A) Painting with heet quality synthesis	-				1 1 1 2	272		
paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary. (a) On timber or plastered surface with super gloss (hi-gloss) (iv) two coats (white in shade) (i) For Door & Window	5	1.8		1.4	12.6	Sqm	78.00	982.8
item no- 2 A/b/ii page no-200								
b) On steel or other metal surface	2	12.3		1.2	29.52		7	
\$35 D23 NC (1965 - 77 - 1969 N 17 - 1969 N 1969 N 1967 N 1977 N 1978	2	1		2.1	4.2			
		1000000		LO-COMM.		ant e	77.00	2596.44
ITem no-41a, page no-69		area kas					and the same	
vitrified tiles ofapproved brand (size not less than 600 mm X 600 mm X 10mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of tilesusing cement @ 2.91Kg./sqM or using polymerised adhesive(6 mm thick layer applied directly over flushed artificial stonefloor/Mosaic etc without any backing course) laid afterapplication slurry using 1.75 Kg of cement per sqM belowmortar only, joints grouted with admixture of white tement and colouring pigment to match with colour of tiles / spoxygrout materials of approved make as directed and removal ofwax coating of top surface of tiles with warm water and colouring the tiles using soft and dry cloth upto mirror inishcomplete including the cost of materials, abour and all other incidental charges complete true to the manufacturer' especification and direction of Engineer-including. (Whitecement, synthetic adhesive and grout material to be supplied by the contrr]e)(B) Light Colour						Visit in the control of the control		
st floor, room	1	3	4.2		12.60	321071		
REPRESENTATION OF THE PROPERTY	1		3.1		9.30	estimate and		
	1	4.5	1.2		5.40			
			2		6.00	CONTRACTOR LABORATED IN		
e-productive oracity (ALC) (III (C) Association of the Re-	1	3.00						
	1	3.00 [	Total		33.30		1276.00	42490.80
.ogo & Marking[Non Schedule]	2	3.00		8 (8 1 × 1 × 1 × 1 × 1 × 1 × 1 × 1 × 1 × 1		L.S	1276.00 10000.00	42490.80
	paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary. (a) On timber or plastered surface with super gloss (hi-gloss) (iv) two coats (white in shade) (i) For Door & Window item no- 2 A/b/ii page no-200  b) On steel or other metal surface  ITem no-41a, page no-69 Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of tilesusing cement @ 2.91Kg./sqM or using polymerised addresive(6 mm thick layer applied directly over finished artificial stonefloor/Mosaic etc without any backing course) laid afterapplication slurry using 1.75 Kg of cement per sqM belowmortar only, joints grouted with admixture of white tement and colouring pigment to match with colour of tiles / spoxygrout materials of approved make as directed and emoval ofwax coating of top surface of tiles with warm water and colouring the tiles using soft and dry cloth upto mirror inishcomplete including the cost of materials, abour and all other incidental charges complete true to the manufacturer' specification and direction of Engineer-incharge. (Whitecement, synthetic adhesive and grout material to be supplied by the contrr]e)(B) Light Colour	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary. (a) On timber or plastered surface with super gloss (hi-gloss) (iv) two coats (white in shade) (i) For Door & Window item no- 2 A/b/ii page no-200  b) On steel or other metal surface 2  ITem no-41a, page no-69 Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10 mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of tilesusing cement @ 2.91Kg./sqM or using polymerised adhesive(6 mm thick layer applied directly over finished artificial stonefloor/Mosaic act without any backing course) aid afterapplication slurry using 1.75 Kg of cement per sqM belowmortar only, joints grouted with admixture of white rement and colouring pigment to match with colour of tiles / epoxygrout materials of approved make as directed and removal ofwax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / epoxygrout materials of approved make as directed and removal ofwax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / epoxygrout materials of approved make as directed and removal ofwax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / epoxygrout materials of approved make as directed and removal of tiles using soft and dry cloth upto mirror inishcomplete including the cost of materials, abour and all other incidental charges complete true to the manufacturer' especification and direction of Engineer-incharge. (Whitecement, synthetic adhesive and grout material to be supplied by the controle) B Light Colour	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary. (a) On timber or plastered surface with super gloss (hi-gloss) (iv) two coats (white in shade) (i) For Door & Window item no- 2 A/b/ii page no-200  b) On steel or other metal surface 2 12.3  ITem no-41a, page no-69 Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10 mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of tilesusing cement @ 2.91Kg./sqM or using polymerised adhesive(6 mm thick layer applied directly over finished artificial stonefloor/Mosaic act without any backing course) aid afterapplication slurry using 1.75 Kg of cement per sqM belowmortar only, joints grouted with admixture of white rement and colouring pigment to match with colour of tiles / epoxygrout materials of approved make as directed and removal ofwax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / epoxygrout materials of approved make as directed and removal ofwax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / epoxygrout materials of approved make as directed and removal ofwax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / epoxygrout materials of approved make as directed and removal of tiles using soft and dry cloth upto mirror inishcomplete including the cost of materials, abour and all other incidental charges complete true to the manufacturer' especification and direction of Engineer-incharge. (Whitecement, synthetic adhesive and grout material to be supplied by the controle) El Light Colour	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary. (a) On timber or plastered surface with super gloss (hi-gloss) (iv) two coats (white in shade) (i) For Door & Window  item no- 2 A/b/ii page no-200  b) On steel or other metal surface 2 12.3  ITem no-41a, page no-69  Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick enems slurry back side of tilesusing cement @ 2.91Kg./sqM or using polymerised adhesive(6 mm thick layer applied directly over finished artificial stonelloor/Mosaic etc without any backing course) laid afterapplication slurry using 1.75 Kg of cement per sqM belowmortar only, joints grouted with admixture of white ement and colouring pigment to match with colour of tiles / appoxygrout materials of approved make as directed and removal of-wax coating of top surface of tiles with warm water and holishing the tiles using soft and dry cloth upto mirror instructions and direction of Engineer-incharge. (Whitecement, synthetic adhesive and grout material to be supplied by the control (E) (E) Light Colour  1 3 4.2  1 3 3.1	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary. (a) On timber or plastered surface with super gloss (hi-gloss) (iv) two coats (white in shade) (i) For Door & Window item no- 2 A/b/ii page no-200  b) On steel or other metal surface 2 12.3 1.2  ITem no-41a, page no-69 Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10 mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1.4) and 2 mm thick cement shurry back side of illessing coment & 2.91Kg, Naf or using polymerised adhesive(6 mm thick layer applied directly over finished achesive(6 mm thick layer applied directly over finished achesive(6 mm thick layer applied directly over finished and strenghication shury using 1.75 Kg of cement per sqM belowmortar only, joints grouted with admixture of white cement and colouring pigment to match with colour of tiles / popoxygout materials of approved make as directed and emoval ofwax costing of top surface of tiles with warm water and solishing the tiles using soft and dry cloth upto mirror instroughless including the cost of materials, abour and all other incidental charges complete true to the manufacturer' specification and direction of Engineer-incharge. (Whitecement, synthetic adhesive and grout material to be supplied by the contrrje)(B) Light Colour  st floor, room 1 3 4.2  1 3 4.2	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary. (a) On timber or plastered surface with super gloss (hi-gloss) (iv) two coats (white in shade) (i) For Door & Window item no- 2 A/b/ii page no-200  b) On steel or other metal surface 2 12.3 1.2 29.52  Them no-41a, page no-69  Supplying and laying true to line and level witrified tiles of approved brand (size not less than 600 mm X 600 mm X 10mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1.4) and 2 mm thick cement slurry back side of dilessing comes (be 2.91kg, hydr or using polymerised adhesive(6 mm thick layer applied directly over flushed endownortar only, joints grouted with admixture of white ement and colouring pigment to match with colour of tiles / popsygrout materials of approved make as directed and emoval clowax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / popsygrout materials of approved make as directed and emoval clowax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / popsygrout materials of approved make as directed and emoval clowax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / popsygrout materials of approved make as directed and emoval clowax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / popsygrout materials of approved make as directed and emoval clowax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / popsygrout materials of approved make as directed and emoval clowax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / popsygrout materials of approved to match with colour of tiles / popsygrout materials of approved to match with colour of tiles / popsygrou	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary. (a) On timber or plastered surface with super gloss (hi-gloss) (iv) two coats (white in shade) (i) For Door & Window  Item no- 2 A/b/ii page no-200  b) On steel or other metal surface 2 12.3 1.2 29.52  ITem no-41a, page no-69  Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 100m thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of lilesusing cement @ 2.91kg./sqM or using polymerised adhesive (i) mm thick layer applied directly over flished rufficial stonefloor/Mosaic etc without any backing course) add afterapplication slurry waste. J.75 kg of cement per sqM belowmortar oily, joints grouted with admixture of white rement indicated and grout materials of approved make as directed and emonyal ofwax coating of top surface of tiles with warm water and polishing the tiles using soft and dry cloth upto mirror inishecomplete including the cost of materials, abour and all other incidental charges complete true to the manufacturer' specification and direction of Engineer-incharge. (Whitecement, synthetic adhesive and grout material to be supplied by the contrie)(B) Light Colour 1 3 4.2 12.60 1 5 5 60 cm 1 3 3.1 9.30	(a) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary. (a) On timber or plastered surface with super gloss (hi-gloss) (iv) two coats (white in shade) (i) For Door & Window  Item no- 2 A/b/ii page no-200  b) On steel or other metal surface 2 12.3 1.2 29.52  ITem no-41a, page no-69  Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1.4) and 2 mm thick cement surry back side of diseasing cement @ 2.91 kg/spM or using polymerised absenced in this pare applied directly over finished rrificial stonefloor/Mesaic etc without any backing course) and afterapplication surry using 1.5 kg of cement per spM elecimentar only, joints grouted with admixture of white cement and colouring pigment to match with colour of tiles / posygrout materials of approved make as directed and emoval ciwax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / posygrout materials of approved make as directed and emoval ciwax coating of top surface of tiles with warm water and colouring pigment to match with colour of tiles / posygrout materials of approved make as directed and emoval ciwax coating of top surface of tiles with warm water and colouring pigment to match with emitted and emoval ciwax coating of top surface of tiles with warm water and colouring pigment to match with admixture of white cement.  In a 3 4.2 12.60  The part of the provide pigment of the provide pigment of the provide pigment of the pigment of the provide pigment of the pigment of the pigment of the provide pigment of the pig

Cost of sanitary & plumbing work 47534.09 Cost of electrical work 47534.09 570409.04 Total= Add 12% GST on Total amount 68449.09 Net Total= 638858.13 6388.58 1% extra for labour welfare cess = Add 3% contengency= 19165.74 Grand Total: 664412.46 664412.00

Total RS. Six lakh Sixtyfour Thousand Four Hundred Twelve only /-.

Sub-Assistant Engineer NHM,South 24pgs. Assistant Engineer NHM,South 24pgs.

CMOH V South 24pgs.

SI no	Description	Nos	L	w	н	QUT.	UNIT	RATE	AMOUNT
	item no-10 ,page-11		12 12 3						
	Stripping off worn out plaster and raking out	22.50							
	joints of walls, celings etc. upto any height and								
1	in any floor including removing rubbish within								
1	a lead of 75m as directed.	1	17.50		1.50	26.25			
	a lead of 75 in as directed.	- 1							
	ELLER PIETCHORES ELLER	20	4.51 AT						
		1	6.50	1.20		7.80	Supplied S		10.750
		1	4.50	4.18		18.79			2 T 2 A 0
	<b>海沙克拉斯斯斯</b>	1	3.00	2.80		8.40	THE STATE OF		
	<b>在在中央国际国际管理等等的</b>	1	3.50	2.90		10.15		44.50	222
	<b>一类的是这种是一个企业,但是一个企业的</b>					71.39	sq.m	19.00	1356.36
	item no-4 ,page-22, 3rd corrigenda			97.00				CHAPT I	
0.5	Artificial stone in floor, dado, staircase etc with								
	cement concrete (1:2:4) with stone chips, laid								
	in panels as directed with toppinging of								
	concrete surface and application of cement								
	slurry before flooring works using cement @								
6	1.75 kg/sq.m all complete including all	1	3	4.2		12.6			
	materials and labour.In ground floor. 3 mm.	1							
	thick topping (High polishing grinding on this								
	item is not permitted with ordinary cement).								
	Using grey cement(iii) 35 mm. thick								
		-	3.5	2	ALCOHOLD BEAUTIFUL TO THE REAL PROPERTY.	7			
** ( B		1	3.3	- 4		19.6	SQM	337	6605.2
	2					19.6	SUM	337	0005.2
	item no-15, Page-192								
	Neat cement punning about 1.5mm thick in					120			
7	wall, dado, window sill, floor etc. NOTE:Cement	1	3	4.2		12.6			
	0.152 cu.m per100 sq.m.	-	2.6	4.0		242			
		1	2.6	1.2		3.12			
		1	2.6	1.2		3.12			
		1	2.5	1.2		3			PERSONAL PROPERTY.
M	是数据的1000年间,1000年间,1000年间,1000年间,	1	1.8	1.2		2.16	No analysis St.		
		1	3	3.35	ar militar	10.05			<b>第24年的</b>
		1	7.5	1.2		9			
		1	3.5	2		7			
			15,67			50.05	sq.m	34.00	1701.7
7	item no-1, Page-192		24,5651						
8	Labour for Chipping of concrete surface before	1	3.35		3.00	10.05			100
0	taking up Plastering work.	914				STATE OF THE STATE OF		SPECIAL SER	A STATE OF THE STA
	三、	2	1.20	100	3.00	7.20	MALES S	Control (AV)	
		2	1.80		3.00	10.80			10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
		2	1.20	#W.10733	3.00	7.20	· Service of	Fig. St. Pro	or sand the little
	是1000年1000年100日 120日 120日 12日 12日 12日 12日 12日 12日 12日 12日 12日 12	2	2.25		3.00	13.50	Marie San Ch		THE SECURITY SHOWS
	60年1月17日 - 1月1日					48.75	sq.m	21.00	1023.75
	item no-10 ,page-91, 3rd corrigenda	193	370.7	602 CA					7266
	(a) M.S or W.I Ornameltal grill of approved	53							12-22-
	design joints contiluously welded with M.S, W.I								
	flats and bars of Windows, railing etc. Fitted						English E		
	and fixed with necessary screws and lugs in								
	and fixed with necessary screws and rugs in								
10	ground floor.[Add extra @ 1% for each addl.								
926	Floor upto 4th floor and @ 1.25% for each								
iii.	addl. floors above 4th floor) (i) Grill weighing								
683	above 10kg per sq.m and up to 16Kg./sq.mtr.			Charles II					

		1	1.2	10 TO SEC. 12	2.1	2.52			
		1	1.5		1.2	1.8			- 200
1238			110			4.32			
Polis Polis				DATE:		0.52	Qntl	9,888	5125.94
	item no-01 Page 49, 3rd corrigenda						20.00	301. AF.	
11	Plaster (to wall, floor, ceiling etc.) with sand and cement morter including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/ staging where necessary (ground floor). [Excluding cost of chipping over concrete surface] (i) with 1:6 cement morter (b)15 mm Thick Plaster	•							
		1	3.00		3.60	10.80			
	TO THE PROPERTY OF STREET STREET	1	2.00		3.60	7.20	16	在計劃法	
	<b>一种自然是这种自然的。</b>	1	3.00		3.00	9.00		5715211756	Market Ball
		1	2.00		3.00	6.00			
5		1	2.00		2.40	4.80			
		1	3.00		2.40	7.20	10.00		Adam As
	Military The Control of the Control		302			45.00	Sqm	151.00	6795.00
12	and cement morter including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/ staging where necessary (ground floor). [Excluding cost of chipping over concrete surface](i) with 1:4 cement morter (c)10 mm Thick Plaster						* 1		
	SECTION 2012 CALL TO EVEN EAST AND ASSESSED.	1	6.50	1.20	PER PERMIT	7.80		7 7 F	Mark State
	<b>有效的现在分词</b> (1) 12 12 12 12 12 12 12 12 12 12 12 12 12	1	2.25	1.20		2.70		I COL	
						10.50	Sqm	133.00	1396.50
14	Supplying, fitting & fixing 1st quality Ceramic tiles in walls and floors to match with the existing work & 4 nos. of key stones (10mm) fixed with araldite at the back of each tile & finishing the joints with white cement mixed with colouring oxide if required to match the colour of tiles including roughening of concrete surface, if necessary or by synthetic adhesive & grout materials etc(B) Wall With Sand Cement Mortar (1:3) 15 mm thick & 2 mm thick cement slurry at back side of tiles using cement @ 2.91 Kg/Sq.m & joint filling using white cement slurry @ 0.20kg/Sq.m. (a) Area of each tile upto 0.09 Sq.m (ii) Other than Coloured decorative including white 2. Add extra for each addl, floor over the rate for item 35 & 36 of subhead A.  (i) upto 4 th floor-Rs 5/Sq.m								
			100		1	10.40	Sam	704.00	13009.92
	toilet ground floor, floor	4	2.2	Service Thousand	2,1	18.48	Sqm.	704.00	
	item no-10 page no-196	100000	THE RESERVE AND ADDRESS.		Chicago Service Control of the Control	THE PERSON NAMED IN COLUMN	NEWSCHOOL PROPERTY		A COUNTY AND PERSONS ASSESSED.

	Acrylic Distemper to interior wall, ceiling with								PARTE N
	a coat of solvent based interior grade acrylic								
15			Inc. Heavy						
ıs	including cleaning and smoothning of surface. Two Coats								
		1	3.00		3.20	9.60			
	Chronic Residence of the particle of the Control of	1	2.00	<b>用其</b> 0页的	8.50	17.00	A CANADA		
	[2] (A)	1	6.35		3.00	19.05			
			100			45.65	Sqm	70.00	3195.5
		1	6.50	1.20		7.80			2.0
		1	3.00	4.18		12.53			
		1	3.00	3.35	3.5	10.05	17.		
		1	1.80	1.20		2.16	Lating by		- 25 14 2
		1	2.53	1.20		3.03			
		1	2.25	1.20		2.70		70.00	2/2022
	: 0					38.27	Sqm	70.00 .	2678.55
	item no-9 page no-196b  Dry Distemparing to interior walls or ceiling		CONTROL OF				7: 3:	PER LA COLON	ALL DESIGNATION OF THE PARTY OF
16	including cleaning, washing, smoothening surface(b) Two coat								
		1	3.00		3.20	9.60			S. (2) (2) 1
255	2000年1月2日 <b>美</b> 女型長期的人類的	1	2.00		8.50	17.00			
		1	3.00	1. 277	3.00	9.00		<b>尼西斯</b>	1 12 12 12
	<b>美多/安于美国的1000万里,在欧洲</b> 第二分别,该位于美国大学的	1	4.18	- 45	3.00	12.53	4 - 6	THE WAY	
	(1) 10 10 10 10 10 10 10 10 10 10 10 10 10		1.4			48.13	Sqm	49.00	2358.125
	NAME OF THE PARTY OF THE PARTY OF THE PARTY.	1	6.50	1.20	DVE TVE	7.80			02002312-003
	THE RESIDENCE TO A SALES OF THE PROPERTY OF TH	1	3.00	4.18		12.53		100	
	2006年2月1日 - 1906年2月1日 - 1906年2月1日 - 1906年2月1日 - 1906年2月1日 - 1906年2月1日 - 1906年2月1日 - 1906年3月1日 - 1906年	1	3.00	3.35		10.05			Maria Gran
	WAY TO THE PARTY OF THE PARTY O	1	1.80	1.20		2.16			ALL CONTRACTOR
	PROGRESS OF THE PROGRESS OF THE PARTY OF THE	1	2.53	1.20		3.03 2.70			
		1	2.25	1.20		38.27	Sqm	49.00	1874.985
	itom no Znaga no 195h		ALC: N			30.27	John		Made and a least
	item no-7page no-195b  Applying Interior grade Acrylic Primer of approved quality and brandon plastered or cencrete surface old or new surface to								
17	receiveDistemper/ Acrylic emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification andas per direction of the EIC. (In Ground Floor)(b) Two Coatsi) Water based interior grade Acrylic Primer								
		5118	0.00		2.0	29.52			
	out side wall	1	8.20		3.6	27.18			
		1	7.55 8.20		0.9	7.38			
	parapate wall	2	7.55		0.9	13.59			Rolling
		2	7.33		0.7	77.67	Sqm	44.20	3433.014
	item no-4 page no-201					State 18			
	Applying Acrylic Emulsion Paint of approved		10000					1205	
	make and brand on wallsand ceiling including sand papering in intermediate coats including								
18	putty(to be done under specific instruction of Superintending Engineer) :(Two coats)i) Standard Quality								
	The second secon	1	8.20		3.6	29.52			
	out side wall	1	7.55		3.6	27.18			3000
	waranata wall	1	8.20		0.9	7.38			
	parapate wall	1	7.55		0.9	6.795			400405
1000	REPORT OF THE PROPERTY OF THE	74.00	the state		And the State of Stat	70.875	Sqm	62.00	4394.25

	item no-1/f page no-114						7,628	5 5 4 2	L- frail-
19	Wood work in door and window frame fitted and fixed in position complete including a protective coat of painting at the contact surface of the frame exluding cost of concrete, Iron Butt Hinges and M.S clamps. (The quantum should be correted upto three decimals).  (f) Sishu, Gamar, Champ, Badam, Bhola, Mogra, Hallah	1	1.2	0.075	0.100	0.01	Cum.	76096.00	684.86
	item no- (1) (iii) (b) page no-117 Panel shutters of door and windows, as per								
20	design (each panel consisting of single plank without joint), including fitting and fixing the same in position but excluding the cost of hinge and other fittings.(iii) 35 mm thick shutters with 19mm thick panel (b) Sishu, Gamar, Champ, Badam, Bhola, Mogra, Hallak.	1	1.2		1.5	1.80			
					114	1.80	Sqm.	2948.00	5306.4
21	Supplying, fitting and fixing M.S clamps for door and window frame made of flat bent bar, end bifurcated with necessary screws etc. by cement (1:2:4) as per direction. (Cost of concrete will paid separately)  (b) 40mm X 6mm X 200mm length	8	78			8.00	Each	25.00	200
	item no-5/ vii,page no-140								
22	Iron butt hinges (vii) 100mm, X 58mm, X 1.90mm, item no- 28/i Page 145	8				8.00	Each	47.00	376
23	Anodised aluminium Aldrop/ Sliding bolts approved quality manufractured from extruded section conforming to I.S specification (I.S 2681/66) and fitted and fixed complete.  (i) 250 mm X 16 mm dia. Bolt.	4				4.00	Each	233.00	932
	item no-10/c Page 138						42		
24	Square or hexagonal square mesh netting made with 18 BWG galvanized wire fitted and fixed complete as per design including local sal wood battens of size 37.5mm X 25mm.  C) 37.5mm mesh	4	1.8		1.4	10.1	Sqm	373.00	3759.84
	item no-1/b, page no-200		40.			3417			
25	(b) Priming one coat on timber or plastered surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc.  (i) For Door & Window	5	1.8		1.4	12.6	Sqm	38.00	478.80
	item no-1/a, page no-200		115954	37.494 (1)	25 1742 3187	500.00	1000		•
26	(a) Priming one coat on steel or metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc.	1	15.5		1.4	21.7	Sqm	29.00	629.3

.

27	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary. (a) On timber or plastered surface with super gloss (hi-gloss) (iv) two coats (white in shade) (i) For Door & Window	5	1.8		1.4	12.6	Sqm	78.00	982.8
	item no- 2 A/b/ii page no-200		T. S. C.	SLEET FIL					
28	b) On steel or other metal surface	2	12.3		1.2	29.52	5 44		空間 利西州
BIL		2	1		2.1	4.2			
						33.72		77.00	2596.44
24.6	ITem no-41a , page no-69   Supplying and laying true to line and level	2 -1	1921-	SEMESTER DEST					
29	vitrified tiles ofapproved brand (size not less than 600 mm X 600 mm X 10mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of tilesusing cement @ 2.91Kg./sgM or using polymerised adhesive(6 mm thick layer applied directly over finished artificial stonefloor/Mosaic etc without any backing course) laid afterapplication slurry using 1.75 Kg of cement per sqM belowmortar only, joints grouted with admixture of white cement and colouring pigment to match with colour of tiles / epoxygrout materials of approved make as directed and removal ofwax coating of top surface of tiles with warm water and polishing the tiles using soft and dry cloth upto mirror finishcomplete including the cost of materials, labour and all other incidental charges complete true to the manufacturer' specification and direction of Engineer-in-Charge. (Whitecement, synthetic adhesive and grout material to be supplied by the contrr]e)(B) Light Colour								
	1st floor, room	1	3	4.2		12.60			
		1	3	3.1 Total		9.30		1276.00	27944.40
	Constitution of the Consti			TOTAL		21.70	.2002		
30	Logo & Marking(Non Schedule)	1					L.S	5000.00	5000.00
	SERVICE OF THE SERVIC								103839.64

10383.96 Cost of sanitary & plumbing work 10383.96 Cost of electrical work 124607.57 Total= 14952.91 Add 12% GST on Total amount 139560.48 Net Total= 1395.60 1% extra for labour welfare cess = 4186.81 Add 3% contengency= 145142.89 Grand Total: 145143.00 Say:

Total RS. ONE lakh FourtyFivee Thousand One Hundred Fourtythree only /-.

Sub-Assistant Engineer NHM,South 24pgs. Assistant Engineer NHM,South 24pgs.

CMOH VA. OV. W

Page 5